
https://www.pass4itsure.com/98-361.html
2024 Latest pass4itsure 98-361 PDF and VCE dumps Download

 

 

 

98-361Q&As

Software Development Fundamentals

Pass Microsoft 98-361 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/98-361.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Microsoft
Official Exam Center

 

 

98-361 VCE Dumps | 98-361 Exam Questions | 98-361 Braindumps                                1 / 4

https://www.pass4itsure.com/98-361.html
https://www.pass4itsure.com/98-361.html
https://www.pass4itsure.com/98-361.html


https://www.pass4itsure.com/98-361.html
2024 Latest pass4itsure 98-361 PDF and VCE dumps Download

QUESTION 1

This question requires that you evaluate the underlined text to determine if it is correct. 

Unit testing is the final set of tests that must be completed before a feature or product can be considered finished. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
the underlined text makes the statement correct. 

A. No change is needed 

B. User acceptance 

C. System 

D. Integration 

Correct Answer: B 

 

QUESTION 2

This question requires that you evaluate the underlined text to determine if it is correct. 

The benefit of using a transaction when updating multiple tables is that the update cannot fail. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
the underlined text makes the statement correct. 

A. No change is needed 

B. succeeds or fails as a unit 

C. finishes as quickly as possible 

D. can be completed concurrently with other transactions 

Correct Answer: B 

 

QUESTION 3

This question requires that you evaluate the underlined text to determine if it is correct. 

A table whose attributes depend only on the primary key must be at least second normal form. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed\\'\\' if
the underlined text makes the statement correct. 

A. No change is needed 

B. first 
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C. third 

D. fourth 

Correct Answer: A 

 

QUESTION 4

You have a class with a property. 

You need to ensure that consumers of the class can write to the value of the property. 

Which keyword should you use? 

A. Add 

B. value 

C. Set 

D. Get 

Correct Answer: A 

 

QUESTION 5

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point. 

Hot Area: 

Hot Area: 
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Correct Answer: 
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